YAMAHA

SR2122 - KR2122

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO - RACK ESPECIFICO

MT-09 TRACER

(2015/2017)

10

1

12

13

14

15

16

17

18

Supporto - Support
Support - Halterung
Soporte - Apoio

Supporto - Support
Support - Halterung
Soporte - Apoio

Vite - Screw
Vis - Schraube
Tornillo - Parafuso

Vite - Screw
Vis - Schraube
Tornillo - Parafuso

Vite - Screw
Vis - Schraube
Tornillo - Parafuso

Vite - Screw
Vis - Schraube
Tornillo - Parafuso

Rondella - Washer
Rondelle - Scheibe
Arandela - Arruela

Rondella - Washer
Rondelle - Scheibe
Arandela - Arruela

Rondella - Washer
Rondelle - Scheibe
Arandela - Arruela

Rondella - Washer
Rondelle - Scheibe
Arandela - Arruela

Rondella - Washer
Rondelle - Scheibe
Arandela - Arruela

Rondella - Washer
Rondelle - Scheibe
Arandela - Arruela

Distanziale - Spacer
Entretoise - Distanzstueck
Distanciador - Espagador

Dado - Bolt - Ecrou
Mutter - Tuerca - Porca

Componenti Originali - Original Parts
Parties Originales - Original Bauteile
Componentes Originales - Componentes Originais

Particolari Inclusi Nel Kit Viteria Della Piastra
Components Included In The Fitting Kit Of The Plate
Pieces Inclues Dans Le Kit De Vis De La Platine
Die Einzelnen Teile Sind Bei Montagekit Der Platte Enthalten
Despieces Incluidos En El Kit De Anclajes De La Parrilla
Componentes Incluidos No Kit Fixagdo Da Base

Vite - Screw
Vis - Schraube
Tornillo - Parafuso

Vite - Screw
Vis - Schraube
Tornillo - Parafuso

©Copyright 30/01/2018 LF-Rev03

Sp. 3mm

Sp. 3mm

TECF M8x50

TCEI M8x30

TCEI M6x25

TSCEI M6x20

210 Sp.1mm

224x2 Foro 8mm

20 foro 8mm

Foro 8mm

Foro 6mm

18 Foro 6mm

224x5 Foro 8,5mm

Dado Auto Bloccanet Flangiato M6

TECI M8x75

TCEI M8x40

GL2821

GL2822DX
GL2822SX

850TECF

830TCEI

625TCEI

620TSP

101RON

258RON

820RON

8RON

6RON

618RON

C24L5F8,5T

6DADIAFLN

875TCEI

840TCEI

2 (Dx;Sx)

1/6



SR2122 - KR2122

.

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO - RACK ESPECIFICO

MT-09 TRACER  (2015/2017)

YAMAHA

Quantita

Caratteristiche

@
=
=
N
=
)
a
-]
a

>
o
<
<
<
N
N
1
= O
o
252
S22
DS <
(==
o 1 @
= a2 E
S8 a
ppO
Qo
S S50
<D n
D
=

=<
wn
<
<
<
N
N
1
= o
c
822
S22 s
D <
= |
o I @©
= sz
83 a
ppo
[=Ry=Y
S S0
9D N
o
N

Vite - Screw
Vis - Schraube
Tornillo - Parafuso

625TEF

TEF M6x25

21

7N

o~

~

o\
&

®

#

\’:/\__/

&mm - 5mm - 6mm
10mm - 12mm

=

NTAGGIO - MOUNTING INSTRUCTIUN%

ISTR

wn
Ll
=
)
o
=
=
f
n
=

1

o
=
=)
=
(¥
=
=
-
=
o

1

(NN
2
£
(=T=)
==
— L
=)
=n
o=
=]
S
o
>
=
-
n
=

DE MONTAJ



SR2122 - KR2122

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO - RACK ESPECIFICO

YAMAHA  MT-09 TRACER  (2015/2017)

REMOVE

REMOVE

Left Right{ "

@19

REMOUNT

R ONI [ ONTAG MOUNTING INSTRU ON
ONS DE MONT/ mﬁ: ITUNG - INSTRUCCIONES




PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO - RACK ESPECIFICO

YAMAHA

SR2122 - KR2122

MT-09 TRACER

(2015/2017)

——
\\\\\\WW -

S

[ La
ONLY SR2122
[T~ >7 [

SR21

22 + Original Side Case Holder

s A [ — SN

©Copyright 30/01/2018 LF-Rev03

4/6



SR2122 - KR2122

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO - RACK ESPECIFICO

YAMAHA  MT-00 TRACER  (2015/2017)

& > Y
SR S 0TI A
* ATTENZIONE: UTILIZZARE LE VITI N°18 SOLAMENTE SU MOTO CON PEDALINE SINISTRE DOTATE DI GANCIO PER IL CASCO.
WARNING: ONLY USE THE NO.18 SCREWS ON MOTORCYLES WHERE THE LEFT FOOTREST IS EQUIPPED WITH A HOOK FOR THE HELMET
ATTENTION : N'UTILISER LES VIS N.18 QUE SUR LES MOTOS EQUIPEES SUR LA GAUCHE D'UN CROCHET POUR LES CASQUES
ACHTUNG: VERWENDEN SIE DIE SCHRAUBEN NR. 18 NUR AUF MOTORRADERN, DIE MIT EINER LINKEN FUSSSTUTZE MIT HAKEN FUR DEN HELM AUSGESTATTET SIND,
ATENCION: UTILIZAR LA TORNILLER{A N° 18 SOLAMENTE PARA MOTOS CON ESTRIBO IZQUIERDO DOTADO DE GANCHO PARA EL CASCO.
ATENCAO — UTILIZAR 0 PARAFUSO NUMERO 18 SOMENTE EM MOTOCICLETAS COM A PEDALEIRA ESQUERDA DOTADA COM 0 GANCHO PARA PORTA CAPACETE.

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MUNTA%EE—M%NUI%I EITUNG - INSTRUCCIONES




SR2122 - KR2122

PORTAPACCO SPECIFICO - SPECIFIC HOLDER - PORTE-PAQUET SPECIFIQUE - SPEZIFISCHER TRAGER - PORTA-EQUIPAJE ESPECIFICO - RACK ESPECIFICO

YAMAHA ~ MT-09 TRACER  (2015/2017)

©

©
OGP =t

@ ‘
= \\\N

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MUNTAGI']EE—MBUANl_II_ﬂ EITUNG - INSTRUCCIONES




